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All Candidates' performance across questions

Question Title

Max Mark FF
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Facility Factor %

90 100



Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.


	WJEC 2016 Online Exam Review
	GCE PSYCHOLOGY UNIT 2 2290U20-1
	Item Level Data
	Facility factor graph
	Question 1
	Mark scheme
	Example 1
	Example 1 marked

	Example 2
	Example 2 marked

	Example 3
	Example 3 marked


	Question 2
	Mark scheme
	Example 1
	Example 1 marked

	Example 2
	Example 2 marked

	Example 3
	Example 3 marked


	Question 3
	Mark scheme
	Example 1
	Example 1 marked

	Example 2
	Example 2 marked


	Question 6
	Mark scheme
	Example 1
	Example 1 marked

	Example 2
	Example 2 marked






Question

MNumber

RhIf y

Cwestiwn

6 Bl There (wi) b o Lo et/ 100 Dtfeweess

Sl ls  (who  SauleAlrd a2/ i fetrctgs

el Ll SSeeliand s )ﬁf’ﬂ%’fﬁﬁ(/ W lan

b

/3 3/ ghser 1147y bal  Shutiofs  soanled i

Al Feathier frve bt /;w.:,:}tfz - Nl {70

Scevadds) s A &SPl /‘e L3 /.;« czdreE / . ey

I
ﬁ" i E ,) .

Leave
Blank
Gadewch

v Wag

Gc

Ao aiver Lage cerlef Lo Ll [fle %/&nﬁ*@,

3 Floy pl
(PS55I o7l meif/ Ly Loigipaer Ao 1y S oS

qri ﬁiwz,/a«f Lley Lpoitid o0/ LHS /Zm; .{,éi'-’fﬁf}’,

. J a ’
WL A A A Y s 2 M 4% Z Zu; Lot l s T

//-"’ﬁ CTEA R it i Léany (1{2?51 &a s

A 5//_)-0:{?;'/4?/”’/(/6( cords ér" Llocrd e Seerd, dic

GSSiteny  lvoted b Duyrd  as  ledshe

A T R 2 A Y M v i D)

A O L 7 VA A Vil Lis””
her £ alngs die _So Slal. ’

(o

7 /,,, {,/g, o Fore /J;f.;,f beld e Sayle e

s il i wiale  a ~ O el AL B " Sl

hotie Sy A.r:r S /{’// T /‘7 /r'm’/fn 8 Lo

F / =
AV G

-éc”

O = sarely  Saded

5= G?v;’f-/fzi/ ol Sl Sraie

ééqéf_

(e el Jssup 1S el e Studarss

e FEET e ide € / L7 Ty [ €8 f’if’,f /?(; J/l K/{/’:’rf}{/ L o

/f/u-"(/gff{ /Effrj [(ff/é/ fﬁ/'?;,jff/ff/jf' /‘f;f"/r ff“’(‘?fff; ;

7
gnll AT /ff . A v gy L el oot

/f?’”f 77 ///f” {/K:?// Leos | by Gevperiiry e b

. A
| (&g el J ,425;»"}" / £t P EY /5 / £F L g £27F r_’?/ /7,45

I i






| Stutlet's,

%?&' w7 2lhca )/ JASE 45 ﬂ‘fﬁ/ Al

St /jf}/{' /5 %’ S/ff/’&*// s SULEErT i€ P

JESEal e ffx/rf'f; Lf  oplstesd (gyg//z{;ff/f'é?,ézég

e - .
7D I o/ bHe  Pas 19 Ve LI Ly £

SAwet? 2F LvErS  Ledoredy /‘Z Sl //ﬂ{/fu?c;j feree

ﬂ!f/ Lshedd . TS Coided Ao At Lo /-ar Az,

Q/M 75 {;’J'}f?,i &7 / EPAGEAT | SR /(: EHTE T

._——"/ — . : N - f
{1 L N A P 2 P il 0 M A a2
o - —— e

37 ﬁfuf/ rff?/ 5.






		Question 6 Example 1 clean.pdf

		Blank Page










j-;ﬂm_lﬂ nm_i:d@ oryS ELQ-.-@%M.J&/Z'_ - S—

4*12) She_caidd bt {coka,

ﬂw_g;( heoLg- R oY fﬁ S LS

LN





Leave

Question

MNumber Blank

Rhif y Gadeweh

Cwesfiwn ¥n Wag
9‘ e =strdants uhnee W% o ﬂa;{'ﬁ/f‘r}/(. M“E(

33—4-3\5.} %Qifam e h%; 50 by agﬁ/r‘a/
: 2. o =ha Cﬁql‘f“ C&n‘f*!“‘c:.(

'7"}1& _58)0{9;1‘{-

ﬁ31§i ‘ 3?f&[TL f\thfﬁéhy::;

chinad dgdt-a_

W) C=3 B4 p~Zad o A-sad =

==/

11/'&1{_‘0L consont — Tha ~ildetn }’ﬂc(%f et _havi

2/

K aniu -l—h,au A2 E:e,‘fﬁg bsv - Vel Fhiy Cauldr

c:r{.}xﬁrwa S - Mathe. 'S‘Uﬂ?_ %

Cﬁnﬁgﬁm+ m% W P T });:f,{/jé. '{:Q/;‘Lﬂn P&r-‘zL

ﬁ?r')!simz? H/}“&E [/ L ngéLQ ﬁ\olﬁgfdgqiﬁ (,24[57{ )

drg if@hﬁraéﬁl f?ﬁf’r}mSQ, EH'LQ{J }Hsz.:d Nk JM

Vo it eecl_lho —tho S I

: 53}%cﬁdjrf* ﬂjiLJ = }}1£9{:?1

fiigffiél, Q;Effifi_ ¥LE (A i ';J;.l‘

S ol lolen mx =0 b;& -quz 5- f*;.S‘A

PSM}‘:\M;CG,/ Sac okl

i
















6. Research was carried out into whether students who smile more at their teachers are
predicted higher grades than those who smile less. The smiling behaviour of students
was rated by a teaching assistant who was present during three lessons. The ratings
were then compared to the students' predicted grades.

(@ Write an appropriate null hypothesis for the above research. [2]

Exemplar answer:
e There will be no difference in predicted grades for those who smile more at their
teachers than those who smile less.

Marks AO2
2 e Appropriate null hypothesis given with both conditions clearly identified.
1 e Appropriate null hypothesis given with only one condition clearly
identified.

e An inappropriate null hypothesis is given.
¢ No response is given.

(b) The teaching assistant used time sampling to rate the smiling behaviour.
Describe how the teaching assistant could have used this technique. [3]

Exemplar answer:
e Time sampling — where the classroom assistant records the smiling behaviour of
the students at specific time intervals across the lesson, e.g. every 15 minutes, and
then creates an average smiling score for each participant being observed.

Marks AO2

3 e A thorough explanation of how the sampling technique could be used
that is fully contextualised.

> o Areasonable explanation of how the sampling technique could be used
that is not fully contextualised.

1 ¢ A basic explanation of how the sampling technique could be used, but
this is not contextualised.

An inappropriate explanation is given
¢ No response is given.

© WJEC CBAC Ltd. 7





(c) Explain one advantage and one disadvantage of the teaching assistant
conducting research in the field. [4]

This question is focused on applying knowledge and understanding of scientific
processes, techniques and procedures in a theoretical context, when handling qualitative
data.

Advantages:

¢ Research conducted in the classroom is likely to be higher in external validity than
research conducted in a lab

e Reduced chance of demand characteristics and social desirability bias from the
students compared to a lab (especially as part of covert observation)

Disadvantages:

o Research is likely to be less reliable than research conducted in a lab —
procedures are not always standardised and extraneous/confounding variables in
the classroom are more difficult to control

o Lower levels of internal validity than research conducted in a lab — open to
researcher bias from the teaching assistant and interpretation of behaviours

o Potential ethical issues — consent from the students, deception etc.

e Any other appropriate advantages/disadvantages

Marks AO2

e Aclear and detailed advantage AND disadvantage is given and fully

4 contextualised.

¢ A clear advantage AND disadvantage are given, but only one of these
is fully contextualised.

¢ An advantage AND disadvantage are given, but they are not fully
2 explained.
e An advantage OR disadvantage is given which is fully contextualised.

1 ¢ An advantage OR disadvantage is given, but it is not fully
contextualised.

e Inappropriate answer given.
¢ No response attempted.

The teaching assistant recorded the average smile behaviours alongside the teacher's
predicted grades. Results are shown in the table below:

Participant No. 1 2 3 4 5 6 7 8 9 10
Smile
behaviour 3 4 2 0 2 1 4 5 2 3
rating
Predicted grade c B D D c E B A A C

(Smile behaviour rating: 0 = no smiling to 5 = smiling all the time)

© WJEC CBAC Ltd. 8






(d) Identify and explain how one confounding variable could have affected a
student's smile behaviour rating. [2]

This question is focused on applying knowledge and understanding of scientific ideas in a
theoretical context when handling quantitative data.

Exemplar answers:

e Student’s home life— it could be that a participant smiled less because of death of
bereavement or circumstances beyond the norm (such as an argument with
parents/friends), which means their rating was invalid.

e Type of lesson — as the research included ratings across the three lessons this may
mean that some students’ smiling behaviour may be a misrepresentation. For
example, they don't like the lesson in which they are observed but they do enjoy
others so might smile more.

o Mood of the teaching assistant — not all observations were carried out at the same
time, hence the mood of the teaching assistant recording the information could have
negative impacts on the validity of smile ratings, where a bad mood results in poor
ratings and vice versa.

e Any other appropriate confounding variable
NOTE: Confounding variables are those that affect some participants but not others,
having negative consequences for validity

Marks AO2
> e An appropriate confounding variable is identified and explained in
context.
1 e An appropriate confounding variable is identified, but is not explained in
context.
0 e An inappropriate/incorrect confounding variable is given.
No answer is aiven.

(e) Identify the level of measurement for the 'smile behaviour rating'. [1]

e Ordinal data

Marks AO2
1 e An appropriate level of measurement is identified.
0 e An inappropriate level of measurement is given.
¢ No response is given.

© WJEC CBAC Ltd. 9





) @ Identify a measure of central tendency that could be used to
summarise the grades of the students and explain why this measure is
appropriate. [3]

Exemplar answers:

¢ Mode - the most common/frequent grade in a set can be calculated to give an overall
picture of the grades, where anomalies will not affect the results. This could then be
compared to a mean smile behaviour score to gain an overall picture of how smiling
behaviour affects predicted grades.

o Median — the middle score in a set of data, such as the grades above, could be
calculated to give the central grade in the data set. This could then be compared to
the mean or median smile behaviour score to draw conclusions about the impact of
smiles on predicted grades.

e Any other relevantly justified answer (e.g. mean if the grade is transformed into a

mark)
Marks AO2
3 e An appropriate measure of central tendency is identified and fully
explained in context.
2 e An appropriate measure of central tendency is identified, but it lacks full
justification, or is not used in context.
1 ¢ An appropriate measure of central tendency is identified, but it is not
justified or used in context.
0 e An inappropriate/incorrect answer is given.
e No answer is given.

(i) Calculate the measure of central tendency you identified in (f)(i). Show
your workings. [2]

Exemplar answers:

e Mode—-A=2,B=2,C=3,D=2andE =1 (tally chart or list of grades in order might
also be used). Grade C is selected as the modal grade.

e Median — grades are likely to be placed in order AAB B C C CD D E where the mid-
point (between the first 2 C grades) is likely to be indicated. Grade C is selected as the
median grade.

e Any other relevantly calculated answer (e.g. mean)
Marks AO2

) e An appropriate measure of central tendency is calculated, workings are
shown.

e An appropriate measure of central tendency is calculated, workings are
1 not shown.
e Workings are shown, but final measure of central tendency is not given.

o A different measure of central tendency than that identified in part f(i)
has been calculated.

e An inappropriate/incorrect answer/workings.

¢ No answer is given.

© WJEC CBAC Ltd. 10





(9) Consider two ethical issues that might have arisen in the above research,
and one way of dealing with each of the ethical issues you identified. [8]

Answers could include:

Issues:

e Lack of fully informed consent — the students are under the age of 18 and therefore
parental permission must be sought. If this has not occurred consent issues arise

o Deception — it is likely the students are unaware they are being observed and their
predicted grades are being compared to their smiling behaviour.

e Protection from psychological harm — once the students see the results they might be
embarrassed or be caused stress that their smile score has been related to how much
they smile (particularly true for a small sample size, were it could be easy for the
students to work out who is who).

Ways to deal with issues:

¢ Debriefing — making the students/their parents aware of the study once it has
occurred.

e Consent by proxy — consent from another senior adult in the school, e.g. the head
teacher.

¢ Right to withdraw results of students/their parents who do not consent.

e Confidentiality — giving the students participant numbers and ensuring data is not
misused.

¢ Any other relevant ethical issues and resolutions
For each ethical issue:

1 mark for stating appropriate ethical issue

1 mark for linking the ethical issue to the novel scenario

1 mark for stating an appropriate way of dealing with the ethical issue identified

1 mark for linking the appropriate way of dealing with the ethical issue to the novel
scenario

© WJEC CBAC Ltd. 11





		2290U20-1 GCE AS Psychology Unit 2 MS Summer 2016 (New)-e.pdf

		GCE AS MARKING SCHEME

		INTRODUCTION










Question

MNumber

RhIf y

Cwestiwn

6 G 5’2%1; There  (wil be &t Lorr el 1o [ €7

Sl ls  (who  SauleAlrd a2/ N T

cand LSSl )ﬁf“ﬁ:’ﬁ({éﬁ(/ G ES [@

b

/3 3/ ghser 1147y bal  Shutiofs  soanled i

Leave
Blank
Gadewch

v Wag

Al Feathier frve bt /;w.:,:}tfz - Nl {70

7 .
S s ) ;-1 & SPECSK /"'af?(" /.;« cztre /{”c)t creq

ﬁ" ﬂ’ﬂt’f') - @

Gc

Ao aiver Lage cerlef Lo Ll [fle %/&nﬁ*@,

3 Floy pl
(PS55I o7l meif/ Ly Loigipaer Ao 1y S oS

qri ﬁiwz,/a«f Lley Lpoitid o0/ LHS /Zm; .{,éi'-’fﬁf}’,

. J . )
WL A A Ak Y 2 2 Pl A s L Zu; foeird s T

//-"’ﬁ CTEA R it i Léany (1{2?51 &a s

A 5//_)-0:{?;'/4?/”’/(/6( cords ér" Llocrd e Seerd, dic

GSSiteny  lvoted b Duyrd  as  ledshe

Ll Be  Lertifler  fre S Loc/Zr AP e

A O L 7 VA A Vil Lis””
her £ alngs die _So Slal. ’

(o

7 /,,, {,/g, o Fore /J;f.;,f beld e Sayle e

s il i wiale  a ~ O el AL B " Sl

hotie Sy A.r:r S /{’// T /‘7 /r'm’/fn 8 Lo

F / =
AV G

:éc”

O = sarely  Saded

R

5= G?v;’f-/fzi/ ol Sl Sraie
S
6 g | e e JSsue 1S Ll e St afs

WEEre Rl é /7 G Letr f?ﬁ /’(; Shtied | ’.g:f

/f/u-"(/gff{ /Effrj [(ff/é/ fﬁ/'?;,jff/ff/jf' /‘f;f"/r ff“’(‘?fff; ;

7
arlf | AT /ff o 3 Ot ’7 FECH f/cff/fc/ EECrFSeh

/f?’”f 77 ///f” {/K:?// Leos | by Gevperiiry e b

o

. A
| (&g el J ,425;»"}" / £t P EY /5 / £F L g £27F r_’?/ /7,45

AN




Psychology

Sticky Note

Marks: 0
Comments: This example is a directional, experimental/alternative hypothesis. The question requested a NULL hypothesis.



Psychology

Sticky Note

Marks: 0
Comments: Inappropriate explanation. The mention of a specific time frame implies event sampling (where the smile is the event being observed).



Psychology

Sticky Note

Marks: 3
Comments: An appropriate advantage and disadvantage are given, but the disadvantage is not FULLY contextualised. NB: the use of the term 'teaching assistant' is not considered contextualisation.
Improvements: Explicit terminology (e.g. in the advantage validity is only implied) would improve this answer, as would more specific contextualisation e.g. in the disadvantage explanations of HOW ratings would be influenced.



Psychology

Sticky Note

Marks: 0
Comments: Inappropriate confounding variable is given. Although meaning COULD have been interpreted on behalf of the student, the actual answer is unclear/muddled.
Please note that confounding variables should only affect only one participant/subgroup in the sample.



Psychology

Sticky Note

Marks: 0
Comments: Many candidates responded in this way. Key terminology about 'level of measurement' has been misunderstood.



Psychology

Sticky Note

Marks: 4
Comments: Issue (valid consent) is contextualised (students are unaware...), and way of dealing with the issue (gaining consent) is also weakly contextualised (parents/guardians of the students). Although this was adequate, it only just gained 4 marks as contextualisation is weak in both aspects.



Psychology

Sticky Note

Part f (i) and (ii) have not been attempted
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Psychology

Sticky Note

Marks: 4
Comments: Issue (confidentiality) is described in context. Dealing with element is also contextualised, but weak.
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Psychology

Sticky Note

Marks: 2
Comments: As it is not stated in the context that correlations/relationships were NOT drawn, this answer is appropriate.



Psychology

Sticky Note

Marks: 1
Comments: Basic explanation of time sampling that is not contextualised e.g. we cannot assume that the teaching assistant is a 'she'.
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Psychology

Sticky Note

Marks: 3
Comments: Appropriate advantage and disadvantages are given, but only the former is contextualised ('the students were...').



Psychology

Sticky Note

Marks: 2
Comments: Confounding variable (having a good day) is contextualised (isn't normally this smiley).



Psychology

Sticky Note

Marks: 0
Comments: Incorrect level of measurement is given



Psychology

Sticky Note

Marks: 2
Comments: An appropriate measure is identified, but lacks full justification.



Psychology

Sticky Note

Marks: 0
Comments: calculation of scores has been completed incorrectly for some grades. Mode is not given.



Psychology

Sticky Note

Marks: 2
Comments: Issue (valid consent) is weakly contextualised (children). Knowing they are being observed does not deal with the issue of consent.



Psychology

Sticky Note

Marks: 4
Comments: the issue and how to deal with this issue is fully contextualised.
















6. Research was carried out into whether students who smile more at their teachers are predicted
higher grades than those who smile less. The smiling behaviour of students was rated by a
teaching assistant who was present during three lessons. The ratings were then compared to
the students’ predicted grades.

(@) Write an appropriate null hypothesis for the above research. 2]
(b) The teaching assistant used time sampling to rate the smiling behaviour. Describe how
the teaching assistant could have used this technique. [3]
(c) Explain one advantage and one disadvantage of the teaching assistant conducting
research in the field. [4]
The teaching assistant recorded the average smile behaviours alongside the teacher’s predicted
grades. Results are shown in the table below:
rarticipant | 4 2 3 4 5 6 7 8 9 | 10
0.
Smile
behaviour 3 4 2 0 2 1 4 5 2 3
rating
Predicted
Grade C B D D C E B A A C

(Smile behaviour rating: 0 = rarely smiled to 5 = smiled all the time)

(d)

(e)

(f)

9

Identify and explain how one confounding variable could have affected a student’s smile
behaviour rating. [2]

Identify the level of measurement for the ‘smile behaviour rating’. 1]

(i) Identify a measure of central tendency that could be used to summarise the grades
of the students and explain why this measure is appropriate. [3]
(i) Calculate the measure of central tendency you identified in (f)(i). Show your
workings. 2]

Consider two ethical issues that might have arisen in the above research, and one way
of dealing with each of the ethical issues you identified. [8]

© WJEC CBAC Ltd. (2290U20-1) Turn over.
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GCE PSYCHOLOGY - UNIT 2
Summer 2016 Mark Scheme
SECTION A — Contemporary Debate

1. 'Eye-witness reports of children are less reliable than those of adults.'

Discuss the reliability of eye-witness testimony with reference to the above context.
[20]

This debate is linked to the cognitive approach. However, the materials used in the
responses may be taken from any approach and perspective within psychology. Some
reference could also be made to economic, social and political evidence (as long as it is
explicitly linked to the psychological issue), as well as the consideration of social and
cultural diversity.

Credit could be given for the discussion of:

e Evidence relating to the reliability of EWT in adults and children e.g. Goodman et
al (2001), Cassel and Bjorklund (1995), Yuille (1988), and Loftus and Palmer
(1974) etc.

¢ Named research into factors that affect the reliability of EWT e.g. age of the
witness (Coxon and Valentine, 1997), the role of emotion (abuse vs non-abuse
cases (Goodman, 2001)), reconstructive memory (Bartlett, 1932), leading
guestions/post-event misinformation (Loftus and Zanni (1975), and Yuille and
Cutshall (1987)) attributional biases and weapon focus.

e Consideration of cultural and social diversity e.g. racial stereotyping (Allport and
Postman, 1945), and the impact of the media.

e Ceci (1972).

e Any other appropriate material

Marks AO1

Exemplars used are well chosen to support the points made.
Level of accuracy is thorough.

There is depth and range to material included.

Effective use of terminology throughout.

10

Exemplars used are appropriate.

Level of accuracy is reasonable.

There is depth and range to material used, but not in equal measure.
Good use of terminology.

Exemplars may not always be appropriate.
Level of accuracy is basic.

There is depth or range only in material used.
There is some use of appropriate terminology.

4-6

o Exemplars are limited and not always made relevant.
1-3 e Level of accuracy is superficial.
o Very little use of appropriate terminology.

Inappropriate answer given.
¢ No response attempted.

Criteria for AO3 content of this question is on the next page

© WJEC CBAC Ltd. 2





Credit could be given for discussion of :

o Evaluative statements and comparisons about the accuracy of EWT between
adults and children.

¢ Ethical implications of allowing children to be witnesses — protection from harm,
consent etc.

e Ethical implications of unreliable EWT — Miscarriage of justice (e.g. Ronald Cotton
— The Innocence Project).

¢ Influence of the evidence on political decisions (e.g. changes in the law to protect
child witnesses).

e Appropriateness of the historical evidence applied to modern society — is early
research into EWT relevant? Have newer techniques improved the reliability of
EWT in the case of strategies such as the Cognitive Interview?

e Evaluation of the research (must be contextualised) e.g. validity issues with lab
experiments reflecting real eye witness accounts.

o Evaluative statements and comparisons about the accuracy of EWT between
adults and children.

Marks

AO3

10

A thorough discussion is made of both sides of the debate.
Evaluative comments are evidently relevant to the context.

Depth and range of material

Structure is logical throughout.

An appropriate conclusion is reached based on evidence presented.

7-9

A reasonable discussion is made of both sides of the debate.
Evaluative comments show some relevance to the context.

Depth and range of material, but not in equal measure.

Structure is mostly logical.

A reasonable conclusion is reached based on evidence presented.

4-6

A basic discussion of both sides of the debate

OR

a reasonable discussion of only one side of the debate.

Evaluative comments are generic and not appropriately contextualised.
Structure is reasonable.

A basic conclusion is reached.

1-3

A superficial discussion is made of the debate.
Evaluative comments are superficial.

Answer lacks structure.

No conclusion.

Inappropriate answer given.
No response attempted.

© WJEC CBAC Ltd.
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Psychology

Sticky Note

The examiner has used slashes to show where information has been divided in the work.
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Psychology

Sticky Note

AO1 - Examples are well chosen and accurate, effective terminology - balances depth and range. AO3 – Thorough discussion, logical structure, excellent use of implications and conclusion. 



Psychology

Sticky Note

It was felt that this essay included enough information - given the time constraints available in the exam for a nominal 16/17 year old - for this answer to be awarded full marks.
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Psychology

Sticky Note

AO1 – Appropriate exemplars that are better than basic, but focus upon depth over range AO3 – Evaluative comments are relevant to context (e.g. some would argue that children are no less reliable than adults…). However, lack of overall conclusion limits to bottom of band (mini-conclusions/statements are included throughout allowing access to Mark Band 3). 
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Psychology

Sticky Note

AO1 – Basic accuracy, range of material, SOME appropriate terminology (e.g. leading questions). AO3 – Basic discussion, comments are generic, very limited conclusion (e.g. and eye-witness report can be reliable, if there is evidence behind it to back it up). 











1. ‘Eye-witness reports of children are less reliable than those of adults.’

Discuss the reliability of eye-witness testimony with reference to the above context. [20]
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SECTION B - Principles of Research

2. Outline the main features of a case study.

3]

Answers could include:
e Longitudinal study.
In-depth investigation of a phenomenon.
Descriptive, exploratory or explanatory analysis of a person, group or event.
Holistic study by one or more methodologies.
Empirical inquiry that investigates a phenomenon within its real-life context.

e Any other appropriate feature

Marks AO1

3 Thorough description of a case study given.
Appropriate use of terminology.
Basic description of a case study.

2 Some terminology is evident.

1 Superficial description.
May be list like.

0 Inaccurate definition is given

No response is given.
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Psychology

Sticky Note

Marks: 3
Comments: A thorough description of a case study, small errors (e.g. 'Paul Gage') do not detract from overall meaning.
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Psychology

Sticky Note

Marks: 0
Comments: Inaccurate outline of a case study. Case studies, like any other method, might have a hypothesis, but they do not usually involve an IV and DV.
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Sticky Note

Marks: 1
Comment: This is an appropriate but superficial description.
Improvements: Details through explanations of points would have gained higher marks.










2. Outline the main features of a case study. [3]
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3. Identify the three moral levels that Kohlberg used to assess his participants in his
research 'The child as a moral philosopher' (1968).

[3]

Exemplar answer:

The preconventional level is the first of three levels of moral thinking; the second level is

conventional, and the third post conventional (also accept autonomous for the third level).

Marks AO1
3 o All three moral levels are identified correctly.
2 o Two out of the 3 moral levels are correctly identified.
1 e One moral level is correctly identified.
0 e |nappropriate answer is given.
e No response is given.
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Sticky Note

Marks: 3
Comments: All 3 moral levels have been correctly identified
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Sticky Note

Marks: 3
Comments: All 3 levels are correctly identified, additional information is correct but unnecessary information  about stages is included.












3. Identify the three moral levels that Kohlberg used to assess his participants in his research
‘The child as a moral philosopher’ (1968). [3]











